Sk BEEM77r—rEER(2FE) ER2E-FDEES
SH2EEERY
IR LSRRI ET AN T AN E Y T LI b DT, T E ) U ST ORETITOE L,
1. ¥7N~—r7—2 38k GHEMIC 2 EiTLl b~—2 L72hs
T U= DR
1. 7o — MIEEM 9 ZR\\N T, 5B CcY, UTORMETT v r— MEREZ AL TTFEN,
5 :EWICEIRY 4259 3:EbbELExRY 225 bRy 1 aKE by
e e PEAMS | APAM4 | REAES | REME2 | BRMEL | AR || o a5 341
ik ox | ox | o | on | ok | Eem S (|
) B 1,013 1,222 232 48 23
B (REONFIIEMMTE E LD, 2,538 4.2 o.77
39.9%  48.1%|  9.1%|  1.9%  0.9%
) B 1,091 1,008 319 69 51
e [RENFICEEEZ oL 5100 £ L, 2,538 4.2 0.9
43.0% 39.7%| 12.6% 2.7%  2.09
) B 1,252 1,068 188 20 10
M3 [FREIT T T AR > THED HIVE LT 2,538 4.4 o0.69
49.3%|  42.1%|  7.4%|  0.8%]  0.4%
) . 1,245 917 271 68 37
FM4 [BEORBD L3500 03 o 72T, 2,538 4.3 o0.87
49. 1% 36.1%| 10.7% 2.7%|  1.5%
) R 1,242 895 290 72 39
RIS | BRI EOER, B, BRAL AL o TINE Lizdy, 2,538 4.3 0.88
48.9%| 35.3%| 11.4% 2.8%|  1.5%
) N ) 1,277 867 297 63 34
X6 |BE DS IRI-N~OBE L I 7Z o 72 & BN E T, 2,538 4.3 0. 87
50.3% 34.2% 11.7% 2.5%|  1.3%
) ) 1,334 1,029 137 26 12
T |7 TR L, ORI L 2 LAV K D I DA T E LA, 2,538 4.4 o0.69
52.6% 40.5%|  5.4%|  1.0%|  0.5%
srpgg |B7RTCHE S OREEICH LC LR TEE ISR, EEAE L THES e, 870 s 816 9 LIS ol ol 0,99
IS G4RERILL |- @3~4RF] @2~3WFH @1~25R  D1RRREIA 3. 49 3.3y 12.5% 36.8%| 43. 99 ? . .
B} . o . 7291 559| 560! 454| 89 56| 231 28| 10 21
R | Z OWEZI0RETIMEL T EE W, 2,538 8.3 1.66
28. 7%}22. 0%]22. 4% 17. 9%]3. 5%32. 2%]0. 9%i1. 1%]0. 4%:0. 8%
ZORETHREEINTODHFEECES L, bREIIZOREL LN DVKFELE 1,791 626 111 7 3
REMIL0 | U722, 2,538 4.7 0.59
@A LTz D1~2KA T @2 (kAT @¥55 < BUMKRATE DI L A EIRAT 70.6h(  24.7%|  4.4%]  0.3%  0.1%
) B . . 841 1,136 483 66 12
ML | ZOFETOBRI-OREAEE 5 BB CiFli L T 2 S0, 2,538 4.1 o.81
33.1%| 44.8%| 19.0% 2.6%  0.5%
) B } ) 1,296 977 241 22 2
ZM2 | ZOFR B ORMASE - T, BIE L TOSERITEYE 5 72 L B0 E$ D, 2,538 4.4 o.70
51.1%) 38.5%|  9.5%  0.9%  0.1%
a3 | DTS OFMF B ONE LIRS 72010, DR KEORNNH S & B 478 474 171 49 23 1195 w1l o o3
P E g, GEETITPN TV B MR E OZ#H OB 40.0% 39.7%| 14.3% 419 Lowl ’ ’
) 0 0 0 0 0
A4 0
1 ™ H
2 Y @
3 | | ——
' 10
4 ‘ — = .
5 I [ ]
8
6 | ||
£ ! al
=7 Ll
I O 6
8
T 2
9
I | | | o4
10
|‘ o
1
I || | =2
12
\ T | 1
13 | ]
14
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%




